BAETELHRBORTIE
#AB:5H25,268 5T AAEEEBHERIS

B K4 2E O H BB RO &% BA

100m AE B 3 12 3 11735 +0.9
L E13 2 12 2 11735 +0.9
B} BHAX 1 2 2 11738 +2.1
KB BE 3 4 2 11747 +1.0
fall & 3 5 4 11754 +0.7
FAIER ZE%0 3 14 1 11756 -1.7
INL EAER 2 2 4 11762 +2.1
L pE 1 12 5 11765 +0.9
ML FEZE; 2 6 2 11772 +0.5
PR BA 2 6 3 11772 +0.5
R ME 3 8 2 11784 +0.5
JtiE ABR 1 8 3 11785 +0.5
Ha BE 1 3 4 11789 +0.2
INE FRER 2 15 5 11791 +1.0
NG fRAEA 1 2 5 11796 +2.1
BT ZEAER 3 12 7 12”711 +0.9
WE BEA 1 13 4 12712 +0.9
AH EE 1 2 6 12718 +2.1
£H FIBA 1 6 5 12746 +0.5
5 8 1 4 8 12785 +1.0
Tk E§ 2 1 DNS
Tk B 3 8 DNS
INFE —H 3 1 DNS
INFR SR 1 6 DNS

R ISR ZEAN 3 4 1 11752 -2.5
L E1E 2 1 3 11766 -3.6
KB 1BE 3 4 3 11774 -25
AR BEA 1 2 4 11797 -1.6
ML FE2ZE; 2 4 6 12705 -25
2R HE 3 4 7 12707 -25
AiE B 3 2 DNF

R ISR ZE%0 3 1 10799 -0.9

iEH K4 2F #H BB ok 4 B A

200m #]|AR EA 1 5 1 23”00 +2.1
L EAER 2 7 3 23”53 +1.4
KB IBE 3 9 2 23762 -0.8
FO F=E 3 4 1 23769 +0.3
fall 3 12 2 23791 -0.9
2[R HFE 3 1 3 24”08 -0.2
Il FE2E; 2 11 2 24708 +0.2




HiE BEE 1 8 4 24728 +0.0
JtiE ABB 1 10 5 24733 -0.8
BT ZEAER 3 3 4 24”41 +0.6
NG fRAEH 1 10 6 24798 -0.8
AH EiE 1 1 4 24799 -0.2
£H FI8A 1 10 7 25”08 -0.8
5 B8 1 3 7 26”34 +0.6
PR BK 2 2 DNS
INE FRRER 2 5 DNS
Tik Beg 2 6 DNS
As B& 1 9 DNS
oH NE 3 11 DNS
R  BO EE 3 4 2 23721 -1.3
#BAR BEX 1 4 4 23”36 -1.3
KA BEE 3 4 5 23763 -1.3
ML EAER 2 4 7 23”78 -1.3
fall A 3 3 7 23799 -0.9
ML FEZE; 2 1 8 24760 -1.8
R % 0O EE 3 5 23”31 -2.4
EH K4 2 H FE o 53
400m 25 BEA 2 3 2 52”55
HE B 1 3 5 54”89
R % =% BEA 2 DNS
&H K4 2 O FE ok o3
800m BiE =4 2 5 1 2° 03”790
TH OHME 3 4 1 2°05”19
+iR BE 3 4 2 2° 05”47
Wk 2 1 6 7 2°16”21
3 TH fHME 3 2 2’00760
BiE =4 2 6 2°11709
&H K4 2 O FE ok o3
1500m TH OHME 3 1 2 4’22767
hE WE 2 1 3 4’ 23”47
FH AR 3 1 5 4’ 24740
IUE B 3 4 7 4’ 28”08
Kk gL 1 1 9 4’34732
Wik 2 1 1 12 4’37715
AH {EARER 2 5 8 4’41795
BAER At 2 3 10 4’ 44707
/INEOTEN 2 3 12 4’53"17
R EH EE 3 10 429”29
hE WE 2 11 4’ 32”51
f&H K4 2HF #H EE FCER
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Kk gL 1 12 17701784
AH 1EAER 2 14 1711782
RIE G 2 15 17718727
e WE 2 16 17° 28”80
TFH fEAE 3 23 1739”73
K4 EReF =g &R
oH NE 3 1 54”85
A B 2 3 64”96
oH NE 3 1 53”87
A B 2 5 63797
K4 =g &R
INA, AR, RE NS 5 45”14
oL, EIR . #ERE, BK 2 43”57
., IR, fEBk, K 2 43”60
K4 = IE fogx
AL, paTEp, EE., B 2 327742
R, T, 0O, 5H 1 328”15
R, Tk 0O, 5H 1 323”83
R, FL., B, #5K 7 336793
K4 SPeF = IE SOER
L BE 1 12 5m44




